
Calculus Disk/Washer Method Expanded Solutions 
 
Use the disk or washer method to find the volume of the solid generated when the region bounded by the 
following is revolved about the x-axis. 
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2) y = 2− 2x, y = 0, x = 0   

V = π 2− 2x( )2 dx
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3) y = e−x, y = 0, x = 0, y = ln 4   

V = π e−x( )
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4) y = 25− x2 , y = 0 25− x2 = 0⇒ 25− x2 = 0⇒ x = ±5   

V = π 25− x2( )
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dx
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5) y = sec x, y = 0, x = 0, x = π
4

  

V = π sec x( )2 dx
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6) y = x, y = 2 x x = 2 x ⇒ x2 = 4x⇒ x2 − 4x = 0⇒ x = 0, 4   

V = π 2 x( )
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7) y = x, y = x4 x = x4 ⇒ x4 = x⇒ x4 − x = 0⇒ x = 0,1   

V = π x4( )
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8) y = ex/2, y = e−x/2, x = ln2, x = ln3   

V = π ex/2( )
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9) y = x, y = x + 2, x = 0, x = 4   

V = π x + 2( )2 − x2!
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10) y = sin x, y =1, x = 0 sin x =1⇒ sin x =1⇒ x = π
2
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Use the disk or washer method to find the volume of the solid generated when the region bounded by the 
following is revolved about the y-axis. 
11) y = x, y = 2x, y = 6 x = 2x⇒ x = 0   
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12) y = x3, y = 0, x = 2   

V = π 2( )2 − y3( )
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13) x = 4− y2 , x = 0 4− y2 = 0⇒ 4− y2 = 0⇒ y = ±2   

V = π 4− y2( )
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